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1. (16%) Solve the next differential equation
6. (20%)
dx ke x- (1 - x? | Find the Fourier series of the function f(x) which
dy f(x)::{_«:: meiSE flaean )= £(x)

Where k is a constant.
and using the result, show that
2. (16%) Prove ' 1+_l_+._l__+.....:—_7r_2
3?5 8
div(A Xgrad f) = (grad f) - (rot A)

Where A is a vector field and ' is a scalar function

3. (16%) Calculate the length of the portion of the following curve between t=0
and t=1, where 7, j, £ are the unit base vectors in three-dimensional space,

respectively. i

" +A2e7 f + e

F=e





